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Navodaya Vidyalaya Samiti 

नवोदय ववद्यालय सविवि 

Pre-Board Exam-Term 1 (2021-22) 

प्री-बोर्ड 1 (2021-22) 

Class-X, Subject- Science (086) 

कक्षा: X  ववज्ञान(086) 

Set-1 

सेट-1 

 

Time Allowed:  90 Minutes      Maximum Marks:  40 

सिय: 90 विनट                     अविकिि अंक: 40                                  

 

General Instructions: 

1. The Question Paper contains three sections.  

2.        Section A has 24 questions. Attempt any 20 questions.  

3.        Section B has 24 questions. Attempt any 20 questions.  

4          Section C has 12 questions. Attempt any 10 questions.   

5.  All questions carry equal marks. 

6. There is no negative marking. 

 

सािान्य वनदेश।  

क)  प्रश्न पत्र िें िीन खंर् हैं। 

ख)  खंर् ए िें 25 प्रश्न हैं। कोई भी 20 प्रश्न हल करें। 

ग़)  खंर् बी िें 24 प्रश्न हैं। कोई भी 20 प्रश्न हल करें। 

घ)  खंर् सी िें 12 प्रश्न हैं। कोई 10 प्रश्न हल करें। 

च)  सभी प्रश्नो ंके अंक सिान हैं। 

छ)  कोई नकारात्मक अंकन नही ंहै।  
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Section- A  

Section – A consists of 24 questions. Attempt any 20 questions from this section. The first 

attempted 20 questions would be evaluated. 

1. Which among the following statement(s) is (are) true ? 

Exposer of silver chloride to sunlight for a long duration turns grey due to 

 

(i) The formation of silver by decomposition of silver chloride. 

(ii) Sublimation of silver chloride. 

(iii) Decomposition of chlorine gas from silver chloride. 

(iv) Oxidation of silver Chloride. 

 

(a) (i) only   (b) (i) and (iii)   (c) (ii) and (iii) (d) (iv) only 

 

1- fuEufyf[kr es ls dksu lk dFku lR; gS ¼gSa½ 

flYoj DyksjkbM lw;Z ds izdk'k ds laidZ es yacs le; rd jgus ds dkj.k /kwlj gks tkrk gS 

¼i½ flYoj DyksjkbM ds vi?kVu ls pkanh dk cuukA 

¼ii½ flYoj DyksjkbM dk Å/oZikruA 

¼iii½ flYoj DyksjkbM ls Dyksjhu xSl dk vi?kVuA 

¼iv½ flYoj DyksjkbM dk vkWDlhdj.kA 

 

v- ¼i½ dsoyA 

c- ¼i½ vkSj ¼iii½ A 

l- ¼ii½ vkSj ¼iii½A 

n- ¼iv½ dsoyA 

 

2.  Zinc metal reacts with X to form zinc sulphate along with a gas Y which burn with pop 

sound, X and Y are 

(a)    X: H2SO4,  Y : CO2  

(b)    X: H2SO4, Y : H2 

(c)     X: HCl ,  Y : H2 

(d)     X: HCl ,   Y : CO2 

 

2. ftad /kkrq X ds lkFk fdz;k djds ftad lYQsV cukrh gS vkSj lkFk esa xSl Y Hkh tyrh gS] ikWi /ofu ds lkFk 

X vkSj Y gSA 

(a)   X: H2SO4,  Y : CO2  

(b)    X: H2SO4, Y : H2 
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(c)    X: HCl , Y : H2 

(d)   X: HCl ,        Y : CO2 

 

3.  A student puts one big iron nail each in four test tubes containing solutions of Zinc sulphate, 

Aluminium sulphate, Copper sulphate and Iron sulphate. A reddish brown coating was 

observed only on the surface of iron nail which was put in the solution of  

 

(a)  Zinc Sulphate      

(b)  Iron sulphate        

(c)  Copper sulphate      

(d)  Aluminium sulphate 

 

3-  ,d Nk= ftad lYQsV],sY;qfefu;e lYQsV] dkWij lYQsV vkSj vk;ju lYQsV ds ?kksy okyh ij[kuyh es ls izR;sd 

es ,d cMh yksgs dh dhy Mkyrk gSA dsoy yksgs dh dhy dh lrg ij yky Hkwjs jax dk ysi ns[kk x;k Fkk ftls 

bues ls fdlds ?kksy es Mkyk x;k Fkk \ 

v- ftad lYQsVA 

c- vk;ju lYQsVA 

l- dkWij lYQsVA 

n-  ,Y;wfefu;e lYQsVA 

 

4.   Food cans are coated with tin, not with zinc because : 

(a)  Zinc is costlier than tin 

(b)  Zinc has a higher melting point than tin 

(c)   Zinc is more reactive than tin. 

 (d)  Zinc is less reactive than tin. 

 

4-  [kkus ds fMCcs ij ftad dh ugh cfYd fVu dh ijr p<h gksrh gS D;ksafd& 

v- ftad] fVu ls eWgxk gS A 

c- fVu dh rqyuk es ftad dk xyukad vf/kd gksrk gSA 

l- fVu dh rqyuk es ftad vf/kd fdz;k'khy gSA 

n- fVu dh rqyuk esa ftad de fdz;k'khy gksrk gSA 

 

 

5.  If a solution turns blue litmus to red, what colour will be observed if the same is placed 

on pH paper. 

 (a)  green 

 (b)     blue 

 (c)  red 

 (d)      none of the above 
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5- ;fn dksbZ foy;u uhys fyVel dks yky dj nsrk gS] rks mls pH isij ij j[kus ij dkSu lk jax fn[kkbZ nsxk\ 

v- gjkA 

c- uhykA 

l- ykyA 

n- mijksDr esa ls dksbZ ughaA 

 

6.   In the reaction      PbO + C    ----→    Pb + CO 

(a)  PbO is oxidized 

(b)  C acts as an oxidizing agent 

(c)  C acts as a reducing agent 

 (d)  reaction does not represent redox reaction. 

 

6- bl vfHkfdz;k es  PbO + C    ----→    Pb + CO  

v- PbO vkWDlhd`r gSA 

c- C  vkWDlhdkjd ,tsUV ds :i es dk;Z djrk gSA 

l- C  ,d vipk;d ,tsUV ds :i es dk;Z djrk gSA 

n- vfHkfdz;k jsMkWDl vfHkfdz;k dk izfrfuf/kRo ugh djrh gSA 

 

7. Following observations are observed when calcium oxide reacts vigorously with water 

                         

Identify incorrect observations –  

(i)  It is an endothermic reaction 

(ii)  Slaked lime is produced. 

(iii) Quick lime is produced 

(iv)  It is an exothermic reaction. 

(v) It is a combination reaction. 

(a)   (i) and (ii) 

(b)  (iii) and (iv) 

(c)  (i) and (iii) 

(d)  (ii) , (iv) and (v) 
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                                 .  

7- tc dSfY'k;e vkWDlkbM ikuh ds lkFk tksjnkj vfHkfdz;k djrk gS rks fuEufyf[kr voyksdu ns[ks tkrs gSa 

 xyr izs{k.kksa dks igpkfu,& 

(i) ;g ,d Å’ek'kks’kh vfHkfdz;k gSA 

(ii) cq>k gqvk pwuk mRiUu gksrk gSA 

(iii)  vucq>k pwuk mRiUu gksrk gSA 

(iv) ;g ,d Å’ek{ksih vfHkfdz;k gSA 

(v) ;g ,d la;kstu vfHkfdz;k gSA 

v- (i) vkSj (ii) 

c- (iii) vkSj (iv) 

l- (i) vkSj (iii) 

n- (ii)] (iv)  vkSj (v) 

8.   A student wants to make basic salt. Which of the following pairs of acid and base should 

he use? 

(a) HCl +NaOH 

 

(b) H2CO3 + NaOH  

 

(c) HCl+NH4OH 

 

(d) H2SO4 + KOH 

 

8- ,d Nk= {kkjh; ued cukuk pkgrk gSA mls vEy vkSj {kkj ds fuEufyf[kr esa ls fdl ;qXe dk mi;ksx djuk  

pkfg,A 
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v- HCl +NaOH 

c-  H2CO3 + NaOH  

l-  HCl+NH4OH 

n-  H2SO4 + KOH 

 

9.   What happens to hydrogen ions when lime juice is added to vinegar solution? 

(a) increases 

(b) decreases 

(c) do not change  

(d) none of the above 

 

9- tc fljds ds ?kksy es uhacw dk jl feyk;k tkrk gS rks gkbMzkstu vk;uksa dk D;k gksrk gS\ 

v- c<rh gSA 

c- de gks tkrh gSA 

l- dksbZ ifjorZu ughaA 

n- bues ls dksbZ Hkh ughaA 

 

10.  Which of the following reaction is not correct? 

 

(a)  Zn + CuSO4→  ZnSO4 + Cu 

(b)  2Ag + Cu(NO3)2→ 2AgNO3 + Cu 

(c)  Fe + CuSO4→ FeSO4 + Cu 

(d)  Mg + 2HCl  → MgCl2 + H2 

 

10- fuEufyf[kr es ls dkSu lh vfHkfdz;k lgh ugha gS \  

v-  Zn + CuSO4→  ZnSO4 + Cu 

c- 2Ag + Cu(NO3)2→ 2AgNO3 + Cu 

l-  Fe + CuSO4→ FeSO4 + Cu 

n- Mg + 2HCl  → MgCl2 + H2 

 

11.  The image shows the transport of gases in body through heart and lungs. 
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Which option correctly shows the transport of oxygen to the cell? 

 

(a)  Lungs →pulmonary vein →left atrium →left ventricle →aorta → body cells 

(b)  Lungs →pulmonary vein →right atrium →right ventricle → aorta → body cells 

(c)  Lungs →pulmonary artery →left atrium → left ventricle → vena cava → body  

      cells 

(d)  Lungs →pulmonary artery →right atrium → right ventricle→ vena cava → body    

      cells 

 

11  fuEu fp= g`n; vksj QsQMksa ds ek/;e ls 'kjhj es xSlksa ds ifjogu dks n'kkZrk gSA 

 

 

                                                 
 

 dkSu lk fodYi dksf'kdk esa vkWDlhtu ds ifjogu dks lgh <ax ls n'kkZrk gS  

 
v- QsQMs→ QqQ~Qqlh;f'kjk→cka;k vkfyan→cka;k osafVzdy→ egk/keuh→'kjhj dh dksf'kdk;saA 

c- QsQMs→ QqQ~Qqlh;f'kjk→nka;k vkfyan→nka;k osafVzdy→ egk/keuh→'kjhj dh dksf'kdk;saA 

v- QsQMs→ QqQ~Qqlh;/keuh→cka;k vkfyan→cka;k osafVzdy→ osukdkok→'kjhj dh dksf'kdk;saA 

v- QsQMs→ QqQ~Qqlh;/keuh→nka;k vkfyan→nka;k osafVzdy→ osukdkok→'kjhj dh dksf'kdk;saA 
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12. The image shows the bread moulds on a bread. 

 

                                     
 

How do these fungi obtain nutrition? 

(a)  by eating the bread on which it is growing 

(b)  by using nutrients from the bread to prepare their own food 

(c)  by breaking down the nutrients of bread and then absorbing them 

(d)  by allowing other organisms to grow on the bread and then consuming them 

 

12- ;s dod iks"k.k dSls izkIr djrs gSa \ 

v- ml jksVh dks [kkus ls ftl ij og c< jgk gSA 

c- vius Lo;a ds Hkkstu rS;kj djus ds fy, jksVh ls iks’kd rRoksa dk mi;ksx djdsA 

l- jksVh ds iks’kd rRoksa dks fo?kfVr vkSj fQj mUgsa vo'kksf’kr djdsA 

n- vU; thoksa dks jksVh ij c<us vkSj fQj mudk miHkksx djus dh btktr nsdjA 

 

 

13. During deficiency of oxygen in tissues of human beings, pyruvic acid is converted into lactic 

acid in the  

(a)  cytoplasm 

(b)   chloroplast 

(c)  mitochondria 

(d)   Golgi body 

 

13  ekuo ds Årdks esa vkDlhtu dh deh ds nksjku ikb#fod vEy ysfDVd vEy esa ifjokfrZr gks tkrk gSA 

v-  dksf”kdk nzO; esa 

c-   DyksjksIykLV esa  

l-  ekbVªksdkf.M;k esa 

n-  xksYxh cksMh esa  

 

14. The image shows the structure of a nephron. 
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Nephron is a unit of filtration in kidneys that filters waste material. It selectively reabsorbs or 

excretes water with the help of capillaries that surround it. What is the likely benefit of this? 

(a)  It makes the process of filtration at Bowman’s capsule easier. 

(b)   It helps keep the output of urine constant throughout the day. 

(c)   It helps to uptake and store excess amount of water in the body for later use. 

(d)  It maintains the concentration of urine based on the amount of water present    

            in the body. 

 

14  fuEu fp= ,d uSQzku dh lajpuk dks n'kkZrk gS% 

                             

 

 

 

 usQkWzu xqnsZ esa fuL;anu dh ,d bdkbZ gS tks vif'k’V inkFkZ dks fQYVj djrh gSA ;g pqfuank :i ls iqu% 

vo'kksf’kr djrk gS ;k vius pkjksa vksj dh dsf'kdkvksa dh lgk;rk ls ty dk mRltSu djrk gSA bldk laHkkfor 

ykHk D;k gS\ 

v- ;g ckseu dSIlwy es Nkuus dh izfdz;k dks vklku cukrk gSA 

c- ;g iwjs fnu ew= ds mRiknu dks fLFkj j[kus esa enn djrk gSA 

l- ;g ckn esa mi;ksx ds fy;s 'kjhj es vfrfjDr ek=k es ikuh dks ysus vkSj LVksj djus es enn djrk gSA 

n- ;g ew= es ekStwn ikuh dh ek=k ds vk/kkj ij ew= dh lkanzrk dks cuk;s j[krk gSA 
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15. Which labeled structures secrete digestive enzymes. 

                                                          

 (a)  D, E, G, F 

(b)  D, E, G, A 

(c)  E, G, F, C 

(d)  E, G, C, A 

 

15- dkSu lh yscy okyh lajpuk;s ikpd jl lzkfcr djrs gSa \ 

                              

v- D, E, G, F 

c- D, E, G, A 

l- E, G, F, C 

n- E, G, C, A 

16. The diagram shows the human gas exchange system.                                                            
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What are W, X, Y and Z 

 Bronchus Bronchiole Larynx Trachea 

         (a) W X Z Y 

         (b) X Z Y W 

         (c) Y W X Z 

         (d) Z Y W X 

 

16- fuEu fp= ekuo 'olu ra= dks n'kkZrk gS 

                              

  

W, X, Y vkSj  Z D;k gSa \ 

 czkadl czkafd;ky ySfjaDl Vzsfd;k 

v W X Z Y 

c X Z Y W 

l Y W X Z 

n Z Y W X 
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 (17)    The magnification of the plane mirror is always : 

     (a)  Equal to + 1 

     (b) Greater than  +1 

     (c)   less than  + 1 

     (d)   Infinite. 

 17- ,d lery niZ.k dk vko/kZu gksrk gS 

    v-   + 1  ds cjkcjA 

    c-  + 1  ls cMkA 

    l-  + 1  ls NksVkA 

    n-  vuarA 

(18)  A ray of light passes through the focus point of a convex lens and is then incident on the 

lens. Which of the following figure represents the correct path of light beam ? 

                  

 

18-  ,d izdk'k dh fdj.k mRry ySal ds Qksdl ls xqtjrh gq;h ySal ij fxjrh gS tSlk fp= es fn[kk;k x;k gS]        

fuEu es dkSu lh fdj.k vkjs[k izdk'k dh fdj.k ds mfpr ekxZ dks fu:fir djrh gS \ 

             

                        v-                 c-                  l-                  n-  

(19) When a concave mirror is held towards the sun and its sharp image is formed on a sheet 

of paper as shown in figure, for some time, a hole is burnt on paper. In this situation the 

distance between the mirror and paper is called…..?  

(a)                             (b)                               (c)                               (d) 
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(a)  Principal Focus (b)  Principal axis (c) Focal length (d) None of these. 

 

19- tc vory niZ.k dks lw;Z dh rjQ j[krs gSa] rc dkxt ds VqdMs ij lw;Z dk rh{.k izfrfcEc curk gS tSlk fp= 

es fn[kk;k x;k gS] ;gka dqN le; ds fy;s dkxt es] og Nsn] tgkW lw;Z dk izfrfcEc curk gS] tyus yxrk gS] ,slh 

fLFkfr es niZ.k ,oa dkxt ds chp dh nwjh dks---------------------------------- dgrs gSaA 

 

                             

v- eq[; QksdlA 

c- eq[; v{kA 

l- Qksdl nwjhA 

n- mi;qZDr es dksbZ ughaA 

(20)  A light ray enters from air to diamond as shown in figure.The refractive index of     

diamond is 2.42.  The meaning of this statement is :- 
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     (a) Speed of light in diamond is 2.42 times the speed of light in air.  

     (b) Speed of light in diamond is 
1

2.42
 times the speed of light in air. 

     (c) Diamond is 2.42 times lighter than air.  

     (d) None of the above. 

 

20- ,d izdk'k dh fdj.k gok ls ghjs es izos'k djrh gS tSlk fp= es fn[kk;k x;k gS] ghjs dk viorZukad 2-42 gSA 

bl dFku dk vFkZ gS -------------------------------A 

                                 

v- ghjs es izdk'k dh pky] gok es izdk'k dh pky dh 2-42 xquk gksrh gSA 

c- ghjs es izdk'k dh pky] gok es izdk'k dh pky dh 1@2-42 xquk gksrh gSA 

l- ghjk gok dh vis{kk 2-42 xquk gYdk gksrk gSA 

n- bues ls dksbZ ughaA 

(21)  A concave mirror produces enlarged real image of an object placed at  8 cm in      front 

of  it. Where is the image located ? 

(a)   At the centre of curvature 

(b)   At the principal focus  

(c)   Between centre of  curvature and principal focus 

(d)   Beyond centre of curvature. 

  Air 

Diamond 
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21- ,d oLrq vory niZ.k ls 8 ls-eh- dh nwjh ij j[kh gS ftldk niZ.k okLrfod ,oa cMk izfrfcEc cukrk gS] oLrq 

dk cuus okyk izfrfcEc dgkW fLFkr gS \   

v- odz~rk dsanz ij A 

c-   eq[; Qksdl ij A 

l-  odzrk dasnz ,oa eq[; Qksdl ds chp esaA 

n-  odzrk dsanz ls nwjA 

22. Which of the following would you prefer to use while reading small letters in a   dictionary 

? 

 (a) A Concave lens of focal length 5 cm.  

 (b) A Concave lens of focal length 50 cm  

 (c)  A Concave lens of focal length 10 cm  

 (d) Magnifying glass. 

 

22- 'kCndks'k ds NksVs v{kjksa dks iM+us ds fy;s fuEu es vki fdldk iz;ksx djsaxsA 

v- 5 ls-eh- Qksdl nwjh okyk vory ysalA 

c- 50 ls-eh- Qksdl nwjh okyk vory ysalA 

l- 10 ls-eh- Qksdl nwjh okyk vory ysalA 

n- vko/kZd ysalA 

23. Which of the following figure represents the definition of focal length of converging lens? 

     (a)         

(b)        

(c)         

(d)         
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23- fuEu es dkSu lk fp= ,d vfHklkjh ysal dh Qksdl nwjh n'kkZrk gS \ 

v- 

              
 

c- 

           

 

l- 

              

 

n- 

              

 

 

24. Correct labelling of angles ‘i1’, ‘A’ and ‘d’ in the following figure is: 

                               

(a)   i1 – Angle of emergence,  A – Angle of Prism,  d – Angle of deviation 

(b)  i1 – Angle of incidence,     A – Angle of Prism,  d – Angle of deviation 

(c)   i1 – Angle of emergence,  A – Angle of Prism,  d – Angle of incidence 

(d)   i1 – Angle of incidence,     A – Angle of Prism,  d – Angle of emergence 
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24- dks.k i1 dks.k A vksj dks.k d dk lgh ukekadu D;k gS \ 

                            

v- i1 & fuxZr dks.k] A& fizTe dks.k] d& fopyu dks.k A 

c- i1 & vkiru dks.k] A& fizTe dks.k] d& fopyu dks.k A 

l- i1 & fuxZr dks.k] A& fizTe dks.k] d& vkiru dks.k A 

n-  i1 & vkiru dks.k] A& fizTe dks.k] d& fuxZr dks.k A 

SECTION - B 

Section - B consists of 24 questions (Sl. No.25 to 48). Attempt any 20 questions from this section. 

The first attempted 20 questions would be evaluated. 

25. When dry hydrogen is passed over a heated oxide of metal X using the apparatus shown 

below, a reddish brown residue is obtained. 

                        

The reddish brown could be  

(a)  Copper  

(b)  Lead 

(c)  Silver 

(d)  Zinc 

 

25- tc uhps fn[kk, x, midj.k dk mi;ksx djds /kkrq  X ds xeZ vkWDlkbM ds Åij 'kq’d gkbMzkstu izokfgr 

fd;k tkrk gS rks ,d yky Hkwjs jax dk vo'ks’k izkIr gksrk gSA 
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yky Hkwjk vo'ks’k gks ldrk gSA 

v- dkWijA 

c- ysMA 

l- flYojA 

n- ftadA 

26. In the given series of reactions, Y and Z respectively are …………….? 

                         

(Q is used in removing permanent hardness of water.) 

(a) NaHCO3, NaOCl2 

(b) NH4Cl, Na2CO3 

(c) Na2CO3, NH4Cl 

(d) Na2CO3, NaHCO3 

26- vfHkfdz;kvksa dh nh x;h J̀a[kyk esa dze'k% Y vkSj Z …………….gS ? 

                                  

¼ Q dk iz;ksx ty dh LFkk;h dBksjrk dks nwj djus ds fy, fd;k tkrk gSA½ 
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(a) NaHCO3, NaOCl2 

 

(b) NH4Cl, Na2CO3 

(c) Na2CO3, NH4Cl 

         (d) Na2CO3, NaHCO3 

27. State true (T) or false (F) for the following statements  

(i)  Non-metals react with acids to give a salt and hydrogen gas.  

(ii)  Zinc oxide is amphoteric in nature. 

(iii)  Copper oxide is basic in nature. 

(iv)  Hydrogen gas is evolved when a metal reacts with dilute acid. 

(v)   Copper reacts vigorously with dil HCl. 

                (i)         (ii)          (iii)       (iv)      (v) 

(a)            F            T             F           T         T 

(b)            T            F             T           F         F 

(c)            F            T             F           F         T 

(d)            F            T             T           T         F 

27- fuEufyf[kr dFkuksa ds fy, lR; ¼T½ ;k vlR; ¼F½ crk,ssa% 

¼i½ v/kkrq] vEy ds lkFk fdz;k djds yo.k vkSj gkbMzkstu xSl nsrh gSA 

¼ii½ ftad vkWDlkbM mHk;/kehZ izd̀fr dk gksrk gSA 

¼iii½ dkWij vkWDlkbM {kkjh; izd̀fr dk gksrk gSA 

¼iv½ tc dksbZ /kkrq ruq vEy ls vfHkfdz;k djrk gS rks gkbMzkstu xSl fudyrh gSA 

¼v½ dkWij] ruq HCl ds lkFk izcyrk ls vfHkfdz;k djrk gS A 

 

                 (i)         (ii)          (iii)       (iv)      (v) 

v-            F            T             F           T         T 

c-            T            F             T           F         F 

l-            F            T             F           F         T 

n-            F            T             T           T         F 
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28.  An element reacts with oxygen to give a compound with a high melting point . This compound 

is soluble in water . The element is likely to be 

(a) Calcium    (b)   Carbon     (c)   Silicon     (d)   Iron 

28- ,d rRo mPp xyukad okyk ;kSfxd nsus ds fy;s vkWDlhtu ds lkFk fdz;k djrk gSA ;g ;kSfxd ikuh es    

?kqyu'khy gS rRo gksus dh laHkkouk gS% 

v- dSfY'k;e  c- dkcZu  l- flfydkWu n- vkW;Zu 

29. The colour of methyl orange in neutral solution is  

 (a)   Red 

 (b)   Orange 

 (c)   Yellow 

 (d)   Purple 

29- mnklhu foy;u es feFkkby vkWajsat dk jax gksrk gSA 

v-  ykyA 

c-  vkWjsatA 

l-  ihykA 

n-  cSxuhA 

 

30. PbS reacts with Ozone (O3) and forms PbSO4. As per the balanced chemical equation, 

molecules of Ozone required for every one molecule of PbS is/are 

(a)  4          (b)   3        (c)  2       (d) 1 

30. PbS vkstksu ¼O3½ds lkFk vfHkfdz;k djrk gS vkSj PbSO4 cukrk gS A larqfyr jklk;fud lehdj.k ds vuqlkj] PbS ds 

izR;sd v.kq ds fy;s vko';d vkstksu ds v.kq gS @ gSaA 

v- 4      c- 3       l- 2        n- 1 

Question No. 31 to 34 consist of two statements – Assertion (A) and Reason (R). Select 

the correct answer to these questions from the codes (a), (b), (c) and (d) as given 

below: 

 

(a) Assertion and reason both are correct statements and the reason is the correct 

explanation for assertion. 

(b) Assertion and reason both are correct statements but reason is not the correct 
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explanation for assertion. 

(c) Assertion is a correct statement but reason is wrong. 

(d) Assertion is a wrong statement but reason is correct. 

 

iz”u la[;k 31 ls 34 esa nks dFku fn;s x;s gS igyk vfHkdFku nwljk dkj.kA lgh fodYi NkWV dj fy[ks 

v- vfHkdFku o dkj.k nksuks lgh gS o dkj.k vfHkdFku fd iqf’V djrk gSA 

c-   vfHkdFku o dkj.k nksuks lgh gS ij dkj.k vfHkdFku dh iqf’V ugha djrk gSA 

l-   vfHkdFku lgh gS o dkj.k xyr gSA 

n- vfHkdFku xyr gS ysfdu dkj.k lgha gSA 

31.  Assertion : Combustion reactions are also called exothermic oxidation reactions.  

      Reason :   In these reactions, oxygen is added and heat is released. 

31- vfHkdFku % ngu vfHkfdz;kvksa dks Å’ek{ksih vkWDlhdj.k vfHkfdz;k Hkh dgk tkrk gSA 

 dkj.k% bu vfHkfdz;kvksa es] vkWDlhtu tksMk tkrk gS vkSj Å’ek fudyrh gSA 

 

32. Assertion: Bleaching powder has a strong smell of chlorine. 

        Reason:  Bleaching powder is a white powder and an oxidizing agent.  

32- vfHkdFku % Cyhfpax ikmMj es Dyksjhu dh rst xa/k gksrh gSA 

 dkj.k%  Cyhfpax ikmMj ,d lQsn ikmMj gS vkSj ,d vkWDlhdkjd ,tsUV gSA 

33. Assertion: Diffusion does not meet high energy requirements of multicellular       organisms. 

      Reason: Diffusion is a fast process but only occurs at the surface of the body. 

33 vfHkdFku% izlkj cgq dksf'kdh; thoksa dh mPp ÅtkZ vko';drkvksa dks iwjk ugh djrk gSA 

   dkj.k% izlkj ,d rst izfdz;k gS ysfdu dsoy 'kjhj dh lrg ij gksrk gSA 

34. Assertion: 1.33 is the absolute refractive index of water. 

        Reason: Water is optically rarer than air. 

34- vfHkdFku% ty dk fujis{k viorZukad 1-33 gSA 

    dkj.k % ty gok dh vis{kk fojy gksrk gSA 

35. There are four metals K, L, M and N . Identify them by using the hints given below. 
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      K forms basic oxide. 

      L forms amphoteric oxide. 

      Oxide of M dissolves in water to form alkali. 

      N does not react with water at all.  

(a) K → Zn, L→ Al, M→Na, N→ Fe 

(b) K → Fe, L→ Na, M→K, N→ Zn 

(c) K → K, L→ Cu, M→Pb, N→ Na 

(d) K → Cu, L→ Zn, M→K, N→ Pb 

35- pkj /kkrq,aW  K, L, M  vkSj N gSaA uhps fn, x, ladsrksa dk mi;ksx djds mUgsa igpkusaA 

  K {kkjdh; vkWDlkbM cukrk gSA 

  L mHk;/kehZ vkWDlkbM cukrk gSA 

  M dk vkWDlkbM ty es ?kqydj {kkj cukrk gSA 

  N ikuh ds lkFk fcYdqy Hkh vfHkfdz;k ugh djrk gSA 

v-     K → Zn, L→ Al, M→ Na, N→ Fe 

c-       K → Fe, L→ Na, M→ K, N→ Zn 

l-      K → K, L→ Cu, M→ Pb, N→ Na 

n-       K → Cu, L→ Zn, M→ K, N→ Pb 

 

36. Choose  the event that does not occur in photosynthesis. 

(a) Absorption of light energy by chlorophyll. 

(b) Reduction of Carbon dioxide to Carbohydrates. 

(c) Oxidation of Carbon to Carbon dioxide. 

(d) Conversion of light energy to Chemical Energy. 

36- og ?kVuk pqusa tks izdk'k la'ys’k.k esa ugha gksrh gS A 

v DyksjksfQy }kjk izdk'k ÅtkZ dk vo'kks’k.kA 

c dkcZu Mkb vkWDlkbM dk dkcksZgkbMzsV es vip;uA 

l dkcZu dk dkcZu Mkb vkWDlkbM es vkWDlhdj.kA 
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n izdk'k ÅtkZ dk jklk;fud ÅtkZ esa :ikarj.kA 

37. Which of the following statement(s) is (are) true about respiration? 

        (a) During inhalation, ribs move inward and diaphragm is raised 

           (b) In the alveoli, exchange of gases takes place i.e., oxygen from alveolar air  

diffuses into blood and carbon dioxide from blood into alveolar air sacs. 

           (c) Haemoglobin has greater affinity for carbon dioxide than oxygen.   

           (d) Alveoli does not help in increasing surface area for exchange of gases. 

 

37.- fuEufyf[kr esa ls dkSu lk dFku 'olu ds ckjs es lR; gS ¼gSa½ 

v- lkal ysus ds nkSjku ilfy;ka vanj dh vksj pyrh gSa vkSj MkW;Qzke Åij dh vksj mBrk gSA 

c- dwfidkvksa es xSlksa dk vknku iznku gksrk gS vFkkZr~ ok;q dksf'kdh; ok;q ls vkWDlhtu jDr esa QSyrh gS vkSj 

dkcZu Mkb vkWDlkbM jDr ls ok;qdks'kh; ok;qdks'kksa es tkrh gSA 

l- gheksXyksfcu es vkWDlhtu dh rqyuk es dkcZu Mkb vkWDlkbM ls vf/kd vkReh;rk gksrh gSA 

n- ,fYo;ksyh xSlksa ds vknku iznku ds fy;s lrg {ks= dks c<kus es enn ugha djrh gSA 

  

38.  Name the tube which connects the kidneys to the urinary bladder. 

 (a)  Urethra 

 (b)  Nephron 

 (c)  Tubule 

 (d)  Ureter 

38 xqnsZ dks ew=k'k; ls tksMus okyh uyh dk uke crkb,A 

v- ew=ekxZA 

c- usQzkWuA 

l- V~;wc~;way 

n- ;wjsVjA 

39.  A combination of two lenses of power +2.0 D and +0.25 D is equivalent to a   single lens 

of power: 

      (a)  + 2 D (b)  + 0.25 D (c)  +2.25 D (d) +1.75 D 

39- nks ysal ftuds ikoj dze'k% +2D  ,oa  0.25 D gSa] buds la;ksx dk ikoj gksxk%& 

v- +2D   

c-  +0.25 D   

l-  +2.25 D   

n-  +1.75 D  
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40. Name of natural phenomenon in connection with white light spectrum: 

(a) Blue color of Sky (b) Twinkling of stars (c) Rainbow (d) Reddish appearance of  sun 

40- 'osr izdk'k o.kZdze ls lacaf/kr izkdf̀rd ?kVuk gS  

v- vkdk'k dk uhyk jaxA 

c-  rkjksa dk fVefVekukA 

l-  banz/kuq’kA 

n- lw;Z dh ykfyekA 

41. Which of these juices is secreted by pancreas ? 

(a) Trypsin 

(b) Pepsin 

(c) Bile Juice 

(d) Both (a) and (b) 

41- bues ls dkSu lk jl vXuk'k; }kjk L=kfor gksrk gS \ 

v- fVzfIluA 

c- isfIluA 

l- fiRr jlA 

n- v vkSj c nksuksaA 

42.  The loss of water from the leaves of the plant is transpiration. How will this process be 

advantageous for the plants? 

  (a)  It helps in the downward movement of the water. 

  (b)  It helps the plant to maintain temperature in hot sunny days. 

  (c)  It acts as a driving force for distribution of food in plant’s body. 

  (d)  Helps maintain a constant level of water in the soil around the plant. 

 

42 ikS/ks dh ifRr;ksa ls ikuh dh gkfu ok’iksRltZu gSA ;g izfdz;k ikS/k s ds fy;s dSls Qk;nsean gS \ 

v- ;g ikuh dks uhps dh vksj ys tkus es enn djrk gSA 

c- ;g ikS/ks dks xeZ /kwi ds fnuksa es rkieku cuk;s j[kus es enn djrk gSA 

l- ;g ikS/ks es Hkkstu ds forj.k ds fy;s ,d izsjd 'kfDr ds :i es dk;Z djrk gSA 

n- ikS/ks ds pkjksa vkSj dh feV~Vh es ikuh ds Lrj dks cuk;s j[kus es enn djrk gSA 
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43.  Danger signals are red because: 

(a)  Red colour has least wavelength.  

(b)  Red colour is very much scattered by fog and smoke . 

(c)  Red colour is a component of sun light.  

(d)  Red colour of light is least scattered by fog or smoke. 

 

43- [krjs ds flXuy yky jax ds gksrs gSa% D;ksafd 

v- yky jax dh rjaxnS/;Z lcls de gksrh gSA 

c-  yky jax dk dksgjk vkSj /kw;sa ls dkQh vf/kd izdh.kZu gksrk gSA 

l- yky jax lw;Z ds izdk'k dk ?kVd gSA 

n- yky jax dk izdk'k dksgjs ;k /kw;as ls lcls de izdhf.kZr gksrh gSA 

 

44. A student performs the activity of tracing the path of ray of light passing through a rectangular 

glass slab for different angles of incidence. In which of the following cases he is measuring 

correctly the angle of incidence and angle of emergence. 

 

 

 

44- ,d Nk= us vk;rkdkj Xykl LySc ls ikl gksrh gq;h fdj.kksa ds ekxZ dks fn[kk;k gS] fdl fp= es mlus vkiru 

dks.k ,oa fuxZr dks.k dks lgh <ax ls n'kkZ;k gS \ 

 

 

v-                      c-                l-   n- 

 

(a)                              (b)                                   (c)                                  (d) 
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45. Convex mirror is preferred over plane mirror to use as a rear-view mirror in vehicles 

because: - 

 (a) Convex mirror always gives virtual image of the object. 

 (b) Convex mirror always gives erect image of the object. 

 (c)  Convex mirror enables the driver to view much larger area than would possible   with 

 a plane mirror. 

 (d)   None of these. 

 

45- mRry niZ.k] lery niZ.k dh vis{kk xkfM;ksa es lkbM fejj ds :i es iz;qDr gksrk gS] D;ksafd 

v-  mRry niZ.k ges'kk vkHkklh izfrfcEc nsrk gSA 

c-  mRry niZ.k ges'kk lh/kk izfrfcEc cukrk gS 

l-  lery niZ.k dh rqyuk es mRry niZ.k Mzk;oj dks vius ihNs ds cMs {ks= dks ns[kus es leFkZ cukrs gSA 

n-  mi;qZDr es dksbZ ugha A 

 

46   In Below Figure, the  lens has focal length 15 cm. At what distance should the object 

from the lens be placed so that it forms an image at 10 cm from the lens? 

 

                                           

(a) 30 cm 

(b) -30 cm 

(c) -20 cm 

(d) None of the above. 

 

46- uhps fn;s x;s fp= esa ySal dh Qksdl nwjh 15 ls-eh- gS ySal ls oLrq dks fdruh nwjh ij j[kk tk;s] ftlls fd oLrq 

dk 10 ls-eh- nwjh ij izfrfcEc cusaA 

                                  

v-  30 ls-eh-A 

c- &30 ls-eh-A 

l- &20 ls-eh-A 

n- mi;qZDr es ls dksbZ ughaA 
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(47)  The refractive index of medium A with respect to medium B is 2. What is the refractive index 

of medium B with respect to medium A ? 

(a) 0.4    (b) 0.5    (c) 0.25    (d) 2 

 

47- fdlh ek/;e A dk ek/;e B ds lkis{k viorZukad 2 gS] ek/;e B dk ek/;e A  ds lkis{k viorZukad gksxk% 

v-  0-4     c- 0-5     l- 0-25     n-  2 

48. Metals, which are of vital importance to the national defence, Energy and Industry sector 

are called strategic metals, which of the following is a strategic metal? 

a. Titanium 

b. Zirkonium 

c. Manganese 

d. All of these 

 

48-  /kkrq,¡] tks jk"Vªh; lqj{kk] ÅtkZ vkSj m|ksx {ks= ds fy, egRoiw.kZ gSa] lkefjd /kkrq,¡ dgykrh gSaA fuEufyf[kr esa   ls 

dkSu lkefjd /kkrq gS 

(a)  VkbVsfu;eA 

(b)  ftjdksfu;eA 

(c)  eSxuhtA 

(d)  mi;qZDr lHkhA 

 

SECTION – C 

Section- C consists of three Cases followed by questions. There are a total of 12 questions (S.N. 

49 to 60) in this section. Attempt any 10 questions from this section. The first attempted 10 

questions would be evaluated. 

 

Case Study 1. STORY OF INDICATORS 

“Indicator is a chemical compound which is added to the solution in a very small amount to detect 

its acidic or basic nature”. As they show colour change in acidic and basic medium, they are also 

called acid-base indicators. In other words ,”an acid- base indicator is that substance which 

possesses one colour in acidic medium and a different colour in alkaline medium”.  

Indicators, basically, are coloured organic substances either extracted from plants (natural 

indicators) or synthesized in the laboratory (synthetic indicators) . Afew common acid base 

indicators are : Litmus, phenolphthalein, methyl orange, etc. In addition to these there are some 
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naturally occurring substances which have different smell in acidic and basic medium. These 

substance are called olfactory indicators. 

fuEufyf[kr dsl LVMh ij vk/kkfjr iz”u 36 ls 40 rd dks i<+s vkSj fn;s x, iz”uksa ds mRrj nsa 

**ladsrd ,d jklk;fud ;ksfxd gS ftls bldh vEyh; ;k ewy izdfr dk irk yxkus ds fy, cgqr de ek=k esa ?kksy esa 

feyk;k tkrk gS**A pwfd ;sa vEyh; rFkk {kkjh; ek/;e esa jax cnyrs gS] blfy, bUgssa vEy&{kkj ladsrd Hkh dgk tkrk gSA 

nwljs “kCnks esa **vEy&{kkj lwpd og inkFkZ gS ftldk vEyh; ek/;e esa ,d jax vkSj {kkjh; ek/;e es ,d vyx jax gksrk 

gS**A 

ladsrd ] ewy #i ls] jaxhu dkcZfud inkFkZ ftUg sa ;k rks ikS/kks¼izkdfrd ladsrd½ ls fudkyk tkrk gS ;k iz;ksx“kkyk essa 

la”ysf’kr fd;k tkrk gS ¼la”ysf’kr ladsrd ½A dqN lkekU; vEy&{kkj ladsrd gS% fyVel] fQukWyQFksyhu] feFkkby 

vkSjsat vkfnA buds vykok dqN izkdf̀rd :i ls ik;s tkus okys inkFkZ gSa ftudh vEyh; vkSj {kkjh; ek/;e es vyx vyx 

xa/k gksrh gSA bu inkFkksZa dks xzkUg ladsrd dgk tkrk gSA  

49. A solution turns blue litmus red. The pH of the solution is probably  

(a) 8 

(b) 10 

(c) 12 

(d) 6 

49- ,d foy;u uhys fyVel dks yky dj nsrk gSA foy;u dk pH laHkor% gSA 

v- 8 

c- 10 

l- 12 

n- 6 

50. A solution in test tube “ A” turns red litmus blue, evolves hydrogen gas on reaction with Zinc 

and does not react with Sodium Carbonate. Whereas, solution in test tube “B” turns blue litmus 

red, liberates hydrogen gas on reaction with Zinc and evolves Carbon Dioxide gas with Sodium 

Carbonate. Identify “A” and “B”. 

(a) “A” is an acid, “B” is a base. 

(b) “A” is a base, “B” is an acid. 

(c) Both “A” and “B” are bases. 

(d) Both “A” and “B” are acids. 
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50- ij[kuyh , es ,d foy;u yky fyVel dks uhyk dj nsrk gS] ftad ds lkFk vfHkfdz;k ij gkbMzkstu xSl nsrk gS 

vkSj lksfM;e dkcksZusV ds lkFk vfHkfdz;k ugha djrk gSA tcfd ij[kuyh ch es foy;u uhys fyVel dks yky dj nsrk gS] 

ftad ds lkFk vfHkfdz;k ij gkbMzkstu xSl nsrk gS o lksfM;e dkcksZusV ds lkFk dkcZu Mkb vkDlkbM xSl nsrk gSA , o 

ch dks igpkusA 

v- , ,d vEy gS vkSj ch ,d {kkj gSA 

c- , ,d {kkj gS vkSj ch ,d vEy gSA 

l , vksj ch nksuksa {kkj gSaA 

n , vksj ch nksuksa vEy gSaA 

51. Select the incorrect option 

       Indicator Colour in acidic 

medium             

Colour in basic medium 

(a)Litmus(purple)                      Red Blue 

(b)Flower of hydrangea plant(blue)    Red Green 

(c) Red cabbage juice(purple)       Red or Pink           Green 

(d)Turmeric  (yellow) Yellow Reddish brown 

 

51- xyr fodYi dk p;u djsaA 

ladsrd vEyh; ek/;e es jax {kkjh; ek/;e es jax 

v& fyVel ¼cSaxuh½ yky uhyk 

c&gkbMzsfUt;k dk Qwy ¼uhyk½ yky gjk 

l& yky xksch dk jl ¼cSaxuh½ yky ;k xqykch gjk 

n& gYnh ¼ihyk½ ihyk yky Hkwjk 

 

52. Which one of the following can be used as an acid- base indicator by visually impaired 

students? 

(a)  Litmus 

(b)  Turmeric powder 

(c)  Vanilla essence 

(d)  Methyl Orange 

 

52- n`f’Vckf/kr Nk=ksa }kjk fuEu es ls fdldk mi;ksx vEy {kkj ladsrd ds :i es fd;k tk ldrk gS\ 

v- fyVelA 

c- gYnh ikmMjA 

l- oSuhyk ,lsUlA 

n- feFkkby vksjsUtA 
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Case Study 2. 

Stomata (singular: stoma) are tiny pores present on the surface of the leaves. Though they are 

found on both upper and lower epidermis of leaf but they are more in number on the lower 

epidermis. Each stoma is bounded by two kidney-shaped guard cells. These guard cells possess a 

nucleus and a number of chloroplasts. The walls of guard cells are differentially thickened and 

elastic, i.e. they are thickened on inner side and thinner and more elastic on outer side. 

 

LVksesVk ¼,dopu% LVksek½ ifRr;ksa dh lrg ij ekStwn NksVs fNnz gksrs gSaA gkykafd ;s iRrh ds Åijh vkSj fupys ,fiMfeZl 

nksuksa ij ik, tkrs gSa ysfdu fupys ,fiMfeZl ij budh la[;k vf/kd gksrh gSA izR;sd ja/kz xqnsZ ds vkdkj dh nks j{kd 

dksf'kdkvksa ls f?kjk gksrk gSA bu j{kd dksf'kdkvksa esa ,d dsanzd vkSj dbZ DyksjksIykLV gksrs gSaA xkMZ dksf'kdkvksa dh nhokjsa 

vyx&vyx eksVh vkSj ykspnkj gksrh gSa] ;kuh os vanj dh rjQ eksVh gksrh gSa vkSj ckgjh rjQ iryh vkSj vf/kd ykspnkj 

gksrh gSaA 

 

53. The labelling for the slide of leaf peel showing stoma by the four students who made the 

diagram and tabulated the labels, is as follows: 

 

                                                      

 

Student I II III IV 

A Stoma Nucleus Epidermal cell Cell wall 

B Nucleus Stoma Epidermal cell Cell wall 

C Epidermal cell Stoma Nucleus Cell wall 

D Cell Wall Epidermal cell Nucleus Stoma 

 

The student who made the correct labelling is: 

(a) Student A 

(b) Student B 
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(c) Student C 

(d) Student D. 

53- fp= cukus vkSj yscyksa dks lkj.khc) djus okys pkj Nk=ksa }kjk ja/kz fn[kkus okyh iRrh ds fNyds dh LykbM ds 

fy;s yscfyax bl izdkj gS 

                                                     
Nk= 1 2 3 4 

v LVksek ukfHkd ,fiMeZy lsy dksf'kdk fHkfRr 

c ukfHkd LVksek ,fiMeZy lsy dksf'kdk fHkfRr 

l ,fiMeZy lsy LVksek ukfHkd dksf'kdk fHkfRr 

n dksf'kdk fHkfRr ,fiMeZy lsy ukfHkd LVksek 

 

 

lgh yscfyax djus okyk Nk= gS% 

v- Nk= vA 

c- Nk= cA 

l- Nk= lA 

n- Nk= nA 

 

54.  To prepare a good temporary mount of the petunia leaf peel showing many stomata, the student 

has to get the peel from the  

(a)  tip of the leaf 

(b)  upper surface of the leaf 

(c)  lower surface of the leaf 

(d)  point of attachment of the leaf to its petiole. 

 

54- isVqfu;k iRrh ds fNyds dk ,d vPNk vLFkk;h ekmaV rS;kj djus ds fy, ftlesa dbZ ja/kz fn[kkbZ nsrs gSa] Nk= 

dks fNydk fudkyuk iMrk gS 

v-  iRrh dh uksd lsA 
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c- iRrh dh Åijh lrg lsA 

l- iRrh dh fupyh lrg lsA 

n- iRrh ds isVhvksy ls tqMs gq;s LFkku lsA 

55.  The opening and closing of stomatal pore depends upon ___. 

 (a)  Oxygen 

 (b)  Water in guard cells 

 (c)  Concentration of carbon dioxide in stomata 

 (d)  Temperature 

 

55- ja/kz ds fNnz dk [kqyuk vkSj can gksuk fdl ij fuHkZj djrk gS \ 

v- vkWDlhtuA 

c-    xkMZ dksf'kdkvksa es ikuhA 

l-  ja/kz es dkcZu Mkb vkDlkbM dh lka/kzrkA 

n-  rkiekuA 

56.  The inner side of guard cells is 

(a)     rough 

(b)     straight 

(c)     concave 

(d)      convex 

 

56- j{kd dksf'kdkvksa dk Hkhrjh Hkkx gksrk gSA 

v- jQA 

c- lh/kkA 

l- voryA 

n- mRryA 

 

 Case Study 3 

A Student takes a large shining spoon. He tries to view his face in its curved surface. He gets 

surprised to see that in one surface he got his face image inverted and in other surface he got 

his face image erect. He asks reasons behind this to his science teacher. Teacher explains each 

and everything regarding the relation of spoon with that of mirror to whole class and also the 

whole properties of mirrors with related terms like pole, centre of curvature, radius of 

curvature, focus, focal length etc. The curved surface of a shinning spoon could be considered 

as a curved mirror. The reflecting surface of such mirrors can be considered to form a part of 

the surface of a sphere. Inner part of spoon works as a concave mirror and outer bulging part 

acts as a convex mirror. 
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,d Nk= ,d cMk pedrk gqvk pEep ysrk gSA og pEep es vius psgjs dks ns[kus dk iz;kl djrk gS og ;g ns[kdj 

vk'p;Zpfdr gksrk gS fd pEep ds ,d ofdzr ì’B es mls viuk psgjk lh/kk fn[kk;h nsrk gS rFkk nwljs i`’B es mls 

psgjk mYVk fn[kk;h nsrk gS] og vius foKku ds v/;kid ls bldk dkj.k iwNrk gSA v/;kid iwjh d{kk dks pEep 

,oa blds niZ.k ls laca/k dh lHkh ckrksa dks Hkyh Hkkafr le>krs gSa vkSj niZ.k ds Hkh lHkh xq.kksa ls lacaf/kr rF; tSls /kqzo] 

odzrk dsUnz] odzrk f=T;k] Qksdl] Qksdl nwjh ls le>krs gSaA pEep dk ofdzr i`’B ,d ofdzr niZ.k dh rjg ekuk 

tk ldrk gS ,sls niZ.kksa dk ijkorZd ì’B xksys dh lrg dk ,d Hkkx cukrk gSA pEep dk Hkhrjh odz i`’B ,d 

vory niZ.k dk rFkk ckgj dh vksj dk ofdzr i`’B mRry niZ.k dk dk;Z djrk gSA 

(57) The radius of curvature of mirror is defined as : 

(a) The distance between pole and focus is called radius of curvature. 

(b) The distance between pole and center of curvature is called radius of curvature. 

(c)  The distance between focus and center of curvature is called radius of curvature. 

(d) None of the above. 

57- niZ.k dh odzrk f=T;k dh ifjHkk’kk gS 

v- /kzqo ,oa Qksdl ds chp dh nwjhA 

c- /kqzo ,oa odzrk dsUnz ds chp dh nwjhA 

l- Qksdl ,oa odzrk dsUnz ds chp dh nwjhA 

n- mi;qZDr es ls dksbZ ughaA 

 

(58)  The radius of curvature of mirror is 40 cm. The focal length is : 

(a)   45 cm 

(b)   30 cm. 

(c)    15 cm. 

(d)   20 cm. 

 

58-  fdlh niZ.k dh odzrk f=T;k 40 ls-eh- gSA Qksdl nwjh gksxh% 

v-  45 ls-eh-A 

c-  30 ls-eh-A 

l-  15 ls-eh-A 

n-  20 ls-eh-A 

(59)   Laws of reflection holds for : 
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(a)    Only for plane mirror. 

(b)    Only for concave mirror. 

(c)    Only for convex mirror. 

(d)    For plane as well as curved mirrors. 

59-  izdk'k ds ijkorZu ds fu;e lR; gSa % 

v- flQZ lery niZ.k ds fy;sA 

c- flQZ vory niZ.k ds fy;sA 

l- flQZ mRry niZ.k ds fy;sA 

n- izR;sd izdkj ds niZ.k ds fy;sA 

(60)  An object is placed at a distance of 10 cm from a convex mirror of focal length 15 cm. 

Where will the image be formed and what will be the nature of it? 

(a)  6 cm in front of mirror and virtual erect. 

(b)  6 cm behind the mirror and real, inverted. 

(c)   6 cm in front of mirror and virtual, inverted. 

(d)  6 cm behind the mirror and virtual, erect. 

 

60-  ,d mRry niZ.k] ftldh Qksdl nwjh 15 ls-eh- gS] ls 10 ls-eh- dh nwjh ij ,d oLrq j[kh gS] oLrq ds  

izfrfcEc dh fLFkfr ,oa izdf̀r gS% 

v-  niZ.k ds lkeus 6 ls-eh- dh nwjh ij vkHkklh ,oa lh/kk izfrfcEc cusxk A 

c-  niZ.k ds ihNs 6 ls-eh- dh nwjh ij okLrfod ,oa mYVk izfrfcEc cusxk A 

l-  niZ.k ds lkeus 6 ls-eh- dh nwjh ij vkHkklh ,oa mYVk izfrfcEc cusxk A 

c-  niZ.k ds ihNs 6 ls-eh- dh nwjh ij vkHkklh ,oa lh/kk izfrfcEc cusxk A 

 

 

 

 


